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3. cosA=- < 20sinAxtanA °] F27(F, 0° <A <90°)
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D 4.5 ® 6 B 7 @ 8 ® 9



4. o2 1989 AABC oA sinx 2] 3= Lstoiet.




5. o2 1983} 22 AABC of|A] sin x x cos x X tan x 9] &f= Lot}
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7.  (sin0°+3cos0°) x (cos 90° —25in 90°) ©] FE=2 A, tan 45° x cos 0° +
sin90° o] #l= B et & o, A+ B o] g7

@ -3 ® -1 ® 0 @ 1 B 3



3V3sin60°cos30° + 2tan60° + cos? 45° = A ko 2
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9. sin?30°x tan?60° + cos? 60 ° 2] gF= 5t et

YR
=%



10.

ol k7o A YZke] A719 Hl7} 2 3 40]c} Wzt

Yo 3712 A & 0, sinA : tanA = ?

D 1:2 @ 2:3
@ V2:3 ® 3:2

® V3:2
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11. o8 aga Zo]l AB=6, AC = 10 ]2, /B = 90° ¢l AABC oA
sinA ©] 27




12.

O 1ol 9O f1ol Al H A, B, C 7}

/N N /N
Tt 5.0ptAB : 5.0ptBC : 5.0ptCA =
4:5:60°]1,BC =12cm & o, €9
Ht2)5 2] do|& +sfozt,

T,



13.

o3 24 9 O fol Al & A, B, C 7t
VN VN VY

et 5.0ptAB : 5.0ptBC : 5.0ptCA = 6 :

7:80]1, BC =9cm 4 4, g2o] vtx] &

o] ol

® V3cm @ 2+3cm

® 3vV3cm @ 4+3cm

® 543 cm
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14. t+& 130 A AABC 9} ADBC = 2+ /BAC = /BCD = 90° ¢l &
2ol /DBC = 30°, /ZACB =45°,CD =10 € W}, AC+BD
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o, a+ b2 G
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45°

@ 5 ® 6 @ 7 ® 8

@D 4



L 5 - §
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Azte] A71E sa B & W, cosa 9] F1-2?

yl\

“A o] 7
5 17 5 7 12
®ﬁ ®ﬁ ®E @1—3 ® =



17, o3 293 Zo] ¥ix]52] do]7h 1 1 AREHONA] cos 35°+tan 35°+
sin 55° 9] #k2?

y
1
(O ()] S N p
0,57 -n-mmmmmmm - B
N\
1 I
1 I
| |
Y
1 I
35° =
(0] B C z
0.82 1

D 1.40 ® 1.96 3 2.09 @ 2.34 B 2.46
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19.

o& & A2 gl

@ sin 20° < sin 49°
® sin4b5° = cos45°

B tan 23° < tan 73°
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Py
filo
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@ cos10° < cos4T°

@ cos60° > tan 30°



20.

0°<x<45° 4 o, V1-2sinxcosx— V1 + 2sinxcosx & 7t

sholat

& e
=%

4



0° <A <45° \/(sinA —cosA)’+ \/(cosA —sinA)? & 75
Sh?

@D sinA @ 2sinA
® -2sinA +2cosA @ —cosA

B 2cosA



22. AABC A 0° < A <90°°]2, 2cos A— V3 =0 o, sin A x
o] 3 FobH?

1
tan A

© 2 @ V3 @"Z‘l
3 V3
@ 3 © -



23. sin(3A-45°) = cos (% + 15") 2 o], tan A xtan B 9] Zk-2 FLSHH?

(2, 15° < A < 45°,0° < B < 90°)

D 0 2 -1 3 1 @ -2 B 2



24. o= A7 28 B S0 21 WSk 1 ©F 2y ofl st
(x4 Ly O A71E Ford?

<Z7A O>sinx = 0.2588
<Z7A @>tany = 0.3640

2 AOl(sin) | AFQ!(cos)| EHAI E (tan)
14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 0.3839

1) 928° ® 30° B 392° @ 35° B 40°



25. thg TelA sABC 9 WolE w7

A
49°
.
B~< P
“~-10em -~ ¢
(M| &)

T sin © cos tan z
49° 0.66 0,74 0.90
43° 0.68 0.73 0.93
44° 0.69 0,72 0,97

@ 33cm? @ 37cm? ® 45cm?

@ 72 cm?2 B 90 cm?2



